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TPC tracking efficiency

Efficiency
—
I
|
|
i
|
I
|
|
I
|
i
|
I
I
|
|
I
I
[
|
|
I
|
|
I
I
1
|
I
I
|
|
I
|
!
|
I
|
|
I
I
|
]
I
I
|
|
I
I
|
Fl
|
I
|
|
|
|
|
q4
I
I
|
|
I
I
|
1
I
I
|
|
|
I
|
Efficiency
—
I
|
|
i
I
I
|
|
I
i
i
|
i
I
|
|
I
I
[
|
i
I
|
|
I
I
1
|
i
I
|
|
I
|
]
|
i
|
|
i
I
|
!
i
i
|
|
i
I
|
q
i
I
|
|
i
I
|
q4
i
I
|
|
|
I
|
d
i
I
|
|
i
I
|

o
o

0.6

0.4

0.2 __ """""" """""""" """""""" """""""" """" O """ 1 0—400/'9 """""""" """""""" """""""" 0.2 __ """""" """""""" """""""" """""""" """" 0 """ 1 0_40% """""""" """""""" """"""""
Lo 4oB0% L o 4080%
S ' ' 0 ' ' ' ' S B

I.llI.llllj1J]JI||||II|||_[[L[Lll]]]]illlllllllt[[[[ lllllllll]lJJl|lIIIIIllllllllllJlJilIlIIIlIl!llll

o o5 1 15 2 25 3 35 4 4
0 05 1 15 2 25 3 35 4 AR b (VS




Efficiency

1_._._ ______________________________________________________________________________
0.8

0.6

0.4

02" 01040%

i : : _, : _ 04080% : :
ﬁllllll]i]]lllIIIIIIIll[[[lllll]JilllllllllELlll

TPC tracking efficiency

0 0.5 1 1.5 2 2.5 3 3.5 4 B ?GeWc?

Efficiency

=

0.8
0.6

0.4

02 A B B 10 40%
' ' | '  © 40-80%

ﬁlllllll1JJJ|||||||||11ElllllJJJJi|||||||||fllll
0 0.5 1 1.5 2 2.5 3 3.5 4 o ?GeWc?




TOF matching efficiency
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Kaon PID and efficiency
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Kaon PID and efficiency
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Pion PID and efficiency
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Pion PID and efficiency
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Pion PID and efficiency
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D° production at 0-80%
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D raw count and system uncertainty from extracting yields
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D? spectra in ZrZr
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Sys_err replaced by stat_err at present. P, (GeVl/e)

TODO:
R4 err recalculation. 20
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Periperal collision in ZrZr has significant lower “medium effect” compared to AuAu 200 GeV.
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D? cross section at mid-centrality
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Less than 41 ub at 10-40% in AuAu 200 GeV
System uncertainty will be added.



D? cross section as a function of Nyart
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Ry R,

Run RuRu data and get physical result prelimilary;

Do a ratio between ZrZr and RuRu.
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kK PID and efficiency in ZrZr

Target k Partner k
pT > 0.5 pT >0.2
Inl <1 Inf<1
nHitsFit > 20 nHitsFit = 20
ndEdx > 15 ndEdx > 15
gDca <2 gDca < 2.
Ino,] <2.0 [no,| <4.0
InoT°F| < 2.0 InoT°F| < 4.0
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